
1

ch-ih-,l-lh- 
63oha eq[; ijh{kk 

(lkekU; vè;;u-I)
B.P.S.C 63rd Mains Exam

(General Studies-I)  



2

2018
(General Studies/lkekU; vè;;u )

(Paper-I/i=k&I)
Instructions :
	z The figure in the margin indicate full marks.
	z Answer eight question, selecting three each from section-I and Section-II and two from Section-III
	z Candidates are required to give their answers in their own owrds as far as practicable.
	z All questions have been printed both in Hindi and English. In case of any ambiguity in Hindi version, the 

English version shall be condidered authentic.
	z Parts of the same question must be answered together and must not be interposed between answers to other 

question.
funsZ'k %
	z mikUr ds vad iw.kk±d ds |ksrd gSaA
	z [kaM&I ,oa [kaM&II izR;sd esa ls rhu&rhu iz'u rFkk [kaM&III ls nks iz'uksa dk p;u djrs gq, dqy vkB iz'uksa ds mÙkj nsaA
	z ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA
	z lHkh iz'u fganh vkSj vaxzsth nksuksa Hkk"kk esa Nis gSaA ;fn fgUnh Hkk"kk esa dksbZ lansg gS] rks vaxzsth Hkk"kk dks gh izkekf.kd 
ekuk tk,xkA
	z ,d gh iz'u ds fofHkUu [kaMksa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk,¡ rFkk muds chp esa vU; iz'uksa ds mÙkj 
u fy[ks tk,¡A

[kaM&I@Section-I
	 1.	 Describe the significance of Gandhiji's social and cultural thoughts.� 38

	 	 xk¡èkhth ds lkekftd ,oa lkaLÑfrd fopkjksa dh egÙkk dk o.kZu dhft;sA
	 2.	 Discuss the development of western education in Bihar from 1857 AD to 1947 AD.� 38

	 	 fcgkj esa lu~ 1857 ls lu~ 1947 rd ik'pkR; f'k{kk ds fodkl dh foospuk dhft;sA
	 3.	 Discuss the contribution of Bihar to the Uprising of 1857 AD.� 38

	 	 lu~ 1857 ds foæksg esa fcgkj ds ;ksxnku dh foospuk dhft;sA
	 4.	 Evaluate the causes and results of Revolt of Santhal (1855-56) in Bihar.� 38

	 	 fcgkj esa laFkky foæksg (1855-56) ds dkj.kksa ,oa ifj.kkeksa dk ewY;kadu dhft;sA
	 5.	 Discuss the causes and results of Champaran Satyagraha in Bihar (1917).� 38

	 	 fcgkj esa paikj.k lR;kxzg (1917) ds dkj.kksa ,oa ifj.kkeksa dk o.kZu dhft;sA
	 6.	 Examine the salient features of Patna Kalam Painting Style.� 38

	 	 iVuk dyke fp=kdyk 'kSyh dh eq[; fo'ks"krkvksa dk ijh{k.k dhft;sA�

[kaM&II/Section-II

	 7.	 	Explain the BIMSTEC organization. Throw light on the outcomes of recently concluded Kathmandu 
Smmit of BIMSTEC countries. Discuss the issues related to India's interests, hopes and grievances.� 38

	 	 	fcElVsd laxBu dks Li"V dhft;sA fcElVsd ns'kksa ds laxBu dh gky esa gq, dkBekaMw lEesyu ds ifj.kkeksa ij 
izdk'k Mkfy;sA Hkkjr ds fgr] vk'kk,¡ ,oa vis{kkvksa ls lacafèkr fo"k;ksa dh foospuk dhft;sA

	 8.	 	Critically examine the Rohingya Refugee Crisis. Describe the role of Myanmar, China, India and Bangladesh 
in evolution and resolution of the crisis. Throw light on the viloation of Human Rights in context to 
Rohingya Refugees.� 38

	 	 	jksfgaX;k 'kj.kkFkhZ ladV dh vkykspukRed foospuk dhft;sA bl ladV dh mRifÙk ,oa lekèkku esa E;kaekj] phu] Hkkjr 
,oa ckaXykns'k dh Hkwfedk dk o.kZu dhft;sA jksfgaX;k 'kj.kkfFkZ;ksa ds lanHkZ esa ekuokfèkdkjksa ds guu ij izdk'k Mkfy;sA

	 9.	 	What is the two plus two dialogue? Clear the two plus two dialogue between India and the USA in context 
to India and Iran bilateral relations.� 38

	 	 Vw Iyl Vw okrkZ D;k gS\ Hkkjr ,oa bZjku ds f}i{kh; lacaèkksa ds lanHkZ esa Hkkjr ,oa vesfjdk ds chp gqbZ Vw Iyl Vw 
okrkZ dks Li"V dhft;sA
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	 10.	 What do you know about NRC dispute? Illuminate the political intentions behind it. Discuss the international 
impacts of this issue also.  � 38

	 	 ,u-vkj-lh- fookn ls vki D;k le>rs gSa\ bl fookn esa fufgr jktuhfrd ea'kkvksa dks Li"V dhft;sA bl eqís ds 
varjkZ"Vªh; izHkkoksa dh Hkh foospuk dhft;sA

	 11.	 Elucidate the international terrorism. How is the international community today trying to fight the menace 
of international terrorism? What is UNO's contribution?� 38

	 	 varjkZ"Vªh; vkradokn dks Li"V dhft;sA vkt varjkZ"Vªh; leqnk; fdl izdkj varjkZ"Vªh; vkradokn ds [krjs dh lekfIr 
ds fy;s iz;kl dj jgk gSA la;qDr jk"Vª la?k dk D;k ;ksxnku gS\

[kaM&III/Section-III

	 12.	 In a city of Maharashtra, the main mode of transport is the car. The following chart shows the population 
trends and car use trends during the period 2011-2016. Study the chart and answer the questions that follow:
� 38

	 (a)	 In 2014, if the females used 30% of the total cars, them what is the per capita use of cars by females 
in 2014?� 6

	 (b)	 What is the average percentage increase in number of cars over the period 2011-2016? � 6
	 (c)	 Find the year in which the ratio of males to that of females was the highest. � 6
	 (d)	 If in 2012, 60% of cars are used by males, then what is the percentage of males and females who 

used car in the year 2012? � 6
	 (e)	 In which year the ratio of male population to the number of cars int he city was lowest? � 6
	 (f)	 With what percentage, the number of cars in the city was increased from 2011 to 2016?
	 	 egkjk"Vª ds ,d 'kgj esa ;krk;kr dk eq[; lkèku dkj gSA uhps fn;s x, ys[kkfp=k esa tula[;k o`fÙk rFkk dkj iz;ksx 

djus dh o`fÙk dks vofèk 2011 ls 2016 rd ds fy;s n'kkZ;k x;k gSA ys[kkfp=k dk vè;;u dhft;s rFkk mlds 
uhps fn;s x, iz'uksa ds mÙkj nhft;s%
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	 (d)	 2014 esa ;fn dqy dkjksa dk 30% iz;ksx efgykvksa us fd;k] rks izfr efgyk fdruh dkjksa dk iz;ksx 2014 esa 
gqvk\

	 ([k)	 vofèk 2011 ls 2016 ds fy;s dkjksa dh la[;k esa vkSlr izfr'kr o`f¼ Kkr dhft;sA

	 (x)	 ml o"kZ dks Kkr dhft;s] ftl o"kZ iq#"kksa rFkk efgykvksa dk vuqikr lcls vfèkd FkkA

	 (?k)	 ;fn 2012 esa 60» dkjsa iq#"kksa }kjk mi;ksx dh xbZ] rks 2012 esa dkj iz;ksx djus okys iq#"kksa vkSj efgykvksa 
dk izfr'kr D;k gS\

	 (Ä)	 fdl o"kZ esa iq#"k tula[;k rFkk 'kgj esa dkjksa dh la[;k dk vuqikr U;wure Fkk\

	 (p)	 2011 ls 2016 rd 'kgj esa dkjksa dh la[;k esa fdrus izfr'kr dh o`f¼ gqbZ\
	 13.	 Study the following pie charts, which show the expenditure on various heads in the second and third Five-

Year Plans (FYP) and answer the questions given below it:

	 (a)	 By what percent, the expenditure in irrigation increased in the third FYP in comparison to the second 
FYP? � 6

	 (b)	 What is the ratio of expenditures in village industry in the second and third FYPs? � 6
	 (c)	 By what amount, the expenditure in agriculture in the third FYP should have been increased or 

decreased so that to make it 2.5 times the expenditure in agriculture in the second FYP? � 6
	 (d)	 By what percent, the expenditure in agriculture in the third FYP is higher or lower than the expenditure 

in industry and mining in the second FYP?� 6
	 (e)	 By what amount, the expenditure in transportation and communication increased or decreased in the 

third FYP in comparison in second FYP?� 6
	 (f)	 If the total expenditure in the fourth FYP is increased by 80% to that of the third FYP and the segment 

of expenditure on social service and miscellaneous makes an angle of 78º at the centre of pie chart 
for the fourth FYP, then what will be the expenditure in social service and miscellaneous in the fourth 
FYP?

	 	 uhps fn;s x, ikbZ js[kkfp=kksa dk vè;;u dhft;s] ftlesa f}rh; ,oa r`rh; iapo"khZ; ;kstukvksa esa fofHkUu enksa esa O;; 
fn[kk;k x;k gS rFkk mu iz'uksa ds mÙkj nhft;s] tks buds uhps fn;s x, gSa%
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	 (d)	 f}rh; iapo"khZ; ;kstuk dh rqyuk esa r`rh; iapo"khZ; ;kstuk esa flapkbZ esa O;; esa fdrus izfr'kr dh c<+ksrjh 

gqbZ\

	 ([k)	 xzkE; m|ksx esa f}rh; ,oa r`rh; iapo"khZ; ;kstukvksa esa gq, O;; dk vuqikr D;k gS\

	 (x)	 r`rh; iapo"khZ; ;kstuk esa Ñf"k esa gksus okys O;; esa fdl jkf'k dh o`f¼ vFkok deh dh tkrh fd ;g f}rh; 

iapo"khZ; ;kstuk esa Ñf"k esa gksus okys O;; dk 2-5 xquk gks tkrk\

	 (?k)	 f}rh; iapo"khZ; ;kstuk esa m|ksx ,oa [kuu esa gq, O;; dh rqyuk esa iapo"khZ; ;kstuk esa Ñf"k esa gqvk O;; 

fdrus izfr'kr vfèkd vFkok de gS\

	 (Ä)	 f}rh; iapo"khZ; ;kstuk dh rqyuk esa r`rh; iapo"khZ; ;kstuk esa ;krk;kr ,oa nwjlapkj esa fdruk vfèkd de 

O;; gqvk\

	 (p)	 ;fn prqFkZ iapo"khZ; ;kstuk esa dqy O;; r`rh; iapo"khZ; ;kstuk dh rqyuk esa 80» c<+ tk, rFkk prqFkZ iapo"khZ; 

;kstuk ds ikbZ js[kkfp=k esa lkekftd dk;Z ,oa vU; dk [kaM dsaæ esa 78º dk dks.k cuk,] rks prqFkZ iapo"khZ; 

;kstuk esa lkekftd dk;Z ,oa vU; esa fdruk O;; gksxk\

	 14.	 Study the data given in the following multiple bar chart, which shows the sex ratio in Madhya Pradesh 
during the period from 1901 to 1971 and answer the questions given below it:� 38

	 (a)	 What are the ratios of femaels per 1000 males in rural and urban areas of Madhya Pradesh in 1941 
and 1951 Census? In which year was it higher?� 6

	 (b)	 What is the percentage change in females per 1000 males in urban areas of Madhya Pradesh in 1961 
in comparison to 1931?� 6

	 (c)	 Compare the ratio of females per 1000 males in total and rural areas of Madhya Pradesh in 1911 and 
1921 Census. In which year was it higher? � 6

	 (d)	 In which census years, were the female sex ratio in urban areas of Madhya Pradesh highest and 
lowest? What is the difference between these two? � 6

	 (e)	 If in 1931 Census, due to some error in counting 15 females per 100 males were wrongly counted in 
urban area instead of rural area of Madhya Pradesh, then what should have been the actual percentage 
of females per 1000 males in urban area of Madhya Pradesh to that of rural area in 1931? � 6

	 (f)	 If in 1971 Census, there were 90 crore males in rural areas of Madhya Pradesh, then what is the 
difference between male and female population in rural areas of Madhya Pradesh in 1971?

	 	 uhps fn;s x, cgq'kykdk ys[kkfp=k ds vk¡dM+ksa dk vè;;u dhft;s] ftlesa eè; izns'k esa fyaxkuqikr dks vofèk 1901 
ls 1971 rd n'kkZ;k x;k gS rFkk mu iz'uksa ds mÙkj nhft;s] tks blds uhps fn;s x, gSa%
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	 (d)	 1941 rFkk 1951 dh tux.kuk esa eè; izns'k ds xzkeh.k rFkk 'kgjh bykdksa esa izfr 1000 iq#"kksa esa efgykvksa 
ds vuqikr D;k gSa\ fdl o"kZ esa ;g vfèkd Fkk\

	 ([k)	 1931 dh rqyuk esa 1961 esa eè; izns'k ds 'kgjh bykdksa esa izfr 1000 iq#"kksa esa efgykvksa esa fdrus izfr'kr 
dk ifjorZu gqvk\

	 (x)	 1911 rFkk 1921 dh tux.kuk esa eè; izns'k ds dqy rFkk xzkeh.k bykdksa esa izfr 1000 iq#"kksa esa efgykvksa 
ds vuqirksa dh rqyuk dhft;sA fdl o"kZ esa ;g vfèkd Fkk\

	 (?k)	 fdu tux.kuk o"kks± esa eè; izns'k ds 'kgjh bykdksa esa efgyk fyaxkuqikr vfèkdre ,oa U;wure Fks\ bu nksuksa 
ds eè; varj fdruk gS\

	 (Ä)	 ;fn 1931 dh tux.kuk esa x.ku esa fdlh =kqfV ds dkj.k 15 efgyk,¡ izfr 1000 iq#"k xyrh ls eè; izns'k 
ds xzkeh.k bykdksa ds cnys 'kgjh bykdksa esa fxu yh xbZ gks] rks 1931 esa eè; izns'k ds 'kgjh bykdksa esa izfr 
1000 iq#"kksa esa efgykvksa dk xzkeh.k bykdksa esa okLrfod izfr'kr fdruk gksrk\

	 (p)	 ;fn 1971 dh tux.kuk esa eè; izns'k ds xzkeh.k bykdksa esa 90 djksM+ iq#"k Fks] rks 1971 esa eè; izns'k ds 
xzkeh.k bykdksa esa iq#"k rFkk efgyk tula[;k ds chp varj D;k Fkk\

	 15.	 Study  the following line graph, which gives the Public Sector Banks advance (` in crores) to the three 
priority sectors, viz., agriculture, small-scale industries and other private sectors during the period from 
1970 to 1976 and answer the questions that follow:� 38
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	 (a)	 What percentage of more advance was given by the public sector banks to small-scale industries in 
comparison to agriculture in 1971? � 6

	 (b)	 Find the ratio of advance given by the public sector banks to agriculture, small-scale industreis and 
other private sectors in 1972.� 6

	 (c)	 The total advance counted yearly from 1970 to 1976 by the public sector banks to small-scale industries 
is what percentage of that to agriculture? � 6

	 (d)	 If 40% of advance given to small-scale industries is utilized in cottage industry, what amount was 
utilized in cottage industry in 1975? � 6

	 (e)	 Find the ratio of advances given by the public sector banks at three occasions between 1970 to 1976, 
when it was equal for agriculture and small-scale industures. � 6

	 (f)	 In which two years there was decrease in advance given by public sector banks to agriculture relatives 
to the last year? Also find the percentage decrease in advance in these two years. � 6

	 	 uhps fn, gq, js[kk&vkys[k dk vè;;u dhft;s] ftlesa lkoZtfud {ks=k ds cSadksa }kjk izkFkfedrk ds rhu {ks=kksa Ñf"k] 
y?kq&Lrjh; m|ksx rFkk vU; futh {ks=kksa esa vofèk 1970 ls 1976 rd nh xbZ vfxze jkf'k (` djksM+ esa) nh xbZ gS 
rFkk mu iz'uksa ds mÙkj nhft;s] tks blds uhps fn;s x, gSa%

	 (d)	 1971 esa lkoZtfud {ks=k ds cSadksa }kjk y?kq&Lrjh; m|ksxksa dks Ñf"k dh rqyuk esa fdrus izfr'kr vfèkd vfxze 
iznku fd;k x;k\

	 ([k)	 1972 esa lkoZtfud {ks=k ds cSadksa }kjk Ñf"k] y?kq&Lrjh; m|ksxksa rFkk vU; futh {ks=kksa dks fn;s x, vfxze dk 
vuqikr fudkfy;sA

	 (x)	 o"kkZuqxr x.kuk djus ij 1970 ls 1976 rd lkoZtfud {ks=k ds cSadksa ds }kjk y?kq&Lrjh; m|ksxksa dks fn;k 
x;k dqy vfxze Ñf"k dks fn;s x, dqy vfxze dk fdruk izfr'kr gS\

	 (?k)	 ;fn y?kq&Lrjh; m|ksxksa dks fn;s x, vfxze dk 40» dqVhj m|ksx esa mi;skx gksrk gS] rks 1975 esa dqVhj m|ksx 
esa fdruh jkf'k mi;ksx gqbZ\

	 (Ä)	 1970 ls 1976 ds eè; lkoZtfud {ks=k ds cSadksa }kjk fn;s x, mu rhu vfxzeksa dk vuqikr Kkr dhft;s] 
tcfd Ñf"k rFkk y?kq&Lrjh; m|ksxksa dks fn;s x, vfxze leku FksA

	 (p)	 fdu nks o"kks± esa fiNys o"kZ dh rqyuk esa lkoZtfud {ks=k ds cSadksa }kjk Ñf"k dks fn;s x, vfxze esa deh vkbZ\ 
bu nks o"kks± ds fy;s vfxze esa gqbZ izfr'kr deh dks Hkh izkIr dhft;sA


